OGS LLC

‘!.

il il —, e = = a
- et

S

The Alfisols soil is found in -

(A) Jaipur, Dausa, (8) Sirahi, Pali
Alwar

(C) Jaisalmer, Barmer (D) Kota, Baran, Bundi

Who among the following famous saints, was
born in Alwar district of Mewat region?

(A) Hariramdas (B) Laldas
(C) Sunderdas (D) Garibdas
The 15™  Finance Commission  has

recommended that the vertical share of the
states be kept at -

(A) 41% from 2021-22 to 2025-26 )
(B) 42% from 2020-21 to 2024-25 <
(C) 40% from 2018-19 to0 2022-23

(D) 43% from 2017-18 to 2021-22

Who was famous as poet and painter Nagarl
Das?

*

(A) Rana Kumbha (B) Krishnadev

(C) Vrindavandas (D) Raja Sawant Singh

Which of the following statement is incorrect?

(A) Part VI is further divided Into six chapters.

(B) Part VIl of the Constitution deals with the
Union territory.

(C) part VI of the Constitution contains Article
152 to Article 237.

(D) part VI mainly focuses on the State
Government.

Which Sabha was founded by Swami Gopaldas

in Chury, in 15077

(A) Paropkarini Sabha (B) Desh Hiteshini

Sabha

(C) Bal Bharat Sabha (D) Sarvhitkarini Sabha

Who was the last official ruler of Princely state

of Bundi?

(A) Maharao Raja Ram (B) Maharao Raja

Fen et gar ury @t & -
(R) rayR, {14, SreEv(B) e, T §
8
(C) Srarae, Argdy # (D) i, A, 74

NaTT & @ AR fora W, & oA A ufig
i -

(A) efwmrera +B) ETeTaTs

(C) T (D) IgaTH

(A) 2021-22 ¥ 2025-26 & 41% ! T
IB) 2020-21 ¥ 2024-25 T 42% T WY
(C) 2018-19 ¥ 2022-23 TH 40% TW! WY
(D) 2017-18 ¥ 2021-22 U 43% W@ Y

. Hn UF faEeR A @ w9 @9 uliiE

2177
(A) XTOT T (B) &wrdd
(C) F=IETE AP) I1et W 1w

1 B B B D 15 ) 1 3

(A) T VIS ©: areara) 5 g 21

AB) WIT VIl Hemenfae g | WA 2

(C) WA & M7 VI, IFREY 152 9 ar(abn
237 wnfda &)

(O) 31 VIt wg & o 3w gv i
gl

¥ 1907 ¥, 9% W WA Tt o faa

@ AT Wi efy?

(A) ST )

(C) @Ta W1 3]

(B) 291 fedafoh wut
JP) R
= RO b sifan anfefes wmae @
21?

(A) HERTT AT ¥131 (B) wrimerg oo ?}'jrfﬂ'

Singh Raghubir Singh fHw i
(C) Maharao Raja (0) Maharao Raja (C) WG ITAT S¥a D) wTTE e aETal
Ishwari Singh Bahadur Singh e Rir .
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B- Match the following -

Handicraft Product Place

(1) Badla (i) Jaipur
(2) Namda (i) Leta

(3) Paw Quilt (iii) Jodhpur
(4) Khesala (iv) Tonk
Code -

(B) 1-iii, 2-iv, 3-i, 4-i
(D) 1-jv, 2-iii, 3-i, 4-i

(A) 1-iv, 2-iii, 3-ii, 4-i

(C) 1-iii, 2-iv, 31, 4-1

9. \Which Article provides a Uniform Civil Code for

the citizens?
(A) Article 42
(C) Article 45

(B) Article 43
(D) Article 44

10. As per the Industrial park Rating System (IPRS)

. Which of the foll

13. with which

14. who |

Report 2.0, how many parks from Rajasthan
are rated as ‘Leader’?
(A) 17
(C) 20

(B) 14
(D) 11
owing district holds the

maximum reserve forest area?
(A) Sirohi (B) Udaipur

(C) Karauli (D) Baran

12. gjtaram Lalas was sssociated with -

(A) Rajasthani (B) Rajasthani Dances

Dictionary
(C) Rajasthani
art is Kripal singh Shekhawat

Folk art (D) Rajasthani Folk life

related?
(A) Kundan Art

(C) Terracotta
¢ the Kuldevi of Bhati dynasi

(B) Thewa Art

(D) Blue Pottery
y -of

Jaisalmer?
(A) Swangiya Mata
(C) Tanotiya Mata

(B) Avari Mata
(D) Latiyal Mata

9.

10.

11.

e

tfl."r-;_', —

BRI ST AT

T 1 QAT Heal €7

(A) arT=e 42 (B) 3resT 43
(C) SrTeuT 45 P) AT 44

sefteae o e fved (IPRS) frqrd 2.0 @
&1 § <ol faar T 87

(A) 17 (B) 14

(C) 20 (D) 11

Pyrarfaa A 9 fea BT 7 S SIRIETET

ad &3 87

(A) FERTED -1B) SEa sw
(C) @Il (D) @i

12. Frar S @1 e B § -

) ol waget v (B) YRl el |

13.

JA) w=iiTan /e
(C} erifeaT =i

i

(C) 3ol ldd e (D) YT e
3 a

guTel e aEd B W ERilc o

27

(A) @1 ®el (B) wrar wenn

{cl_‘{‘\l.. ‘@}ﬁmT

14, Jrgase & "IE VOide Bl EHERd] B

&
(B) 3ira¥i wich)

(D) |feara s

B

e —

1

o — - e i .
—
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15. Read the statements caretully -

I. The Advocate General Office of Rajasthan
Came Into existence on the formation of the
State of Rajasthan as per the

State Reorganisation Act, 1955
. G.C. Kasliwal became the first Advocate
General for the State of Rajasthan.
Which of the following option is correct?
(A) Only statement 1 is cotrect

(B) Both statements | and I are incorrect
(C) Only statement Il is corre ct

(D) Both statements | and Il are correct

16. Which of the following (Battle - Year) is not

correctly matched?

(A) Battle of Harmada (B) Battle of Sammel -
- 1557 1562

(C) Battle of Khanwa - (D) Battle of Khatoli -
1527 1517

In the "Jal Jeevan Mission Scheme’, the fund

sharing pattern of the centre and the state
respectively for Rajasthan is -

(A) 25:75 (B) 5050

(C) 75:25 (D) g0:20

The correct pair of major mustard producing

districts of Rajasthan is-

(A) Karauli - Sawal
Madhopur

(C) Bikaner — Jaisalmer (D) Alwar ~Jaipur

Where is Haridev Joshi Journalism and Mass
Communication University located?

17.

18.
(B) Aymer - Nagaur

18.

(&) Jaipur (B) Banswara
(C) Udaipur (D) Alwar

20. Who was the founder of the Rajasthan schoo)
of Arts?

(A) Man Singh |
(C) Maharaja Sawal
Kam Singh Il

(B) Sawai lai Singh
(0) Mirza Kaja Jai Singh

21. From which session, Indian National Congrese

started o support Freedom Movemen) tf
Pr'ncftf&titf‘-?

(A) Amritsar
H:] Hafip*.lrd .

.

s

(B) Lucknow
(D) Nagpue

15, gl @ GIAYAE 9o —
e B AT S, I g
afafyan 1956 ® SITAR. AWM 95 4
oo B LA LG G
Hoaman|
Jie Gl WRIEETT IR W G o
ol 49|
fwi 3 @ wirar faweer wel &7
(A) waed FUT 18 T
(B) | @ I =IAT Y oA ® ‘s,
(C) dga w1 HE & “
KO} | T I AT EE WET B
16 Fyifaian 3 3w W (& — T6) F8 i

Tl 2?7
0 T T aE —  (B) we @ a -
1557 1562
Lramar o1 95 - (Brarrat a7 g —
1527 1517
17.

WOIE & 60 Wid Waeg B o
i, s dul W F eI e 8 —

(A) 25:75 B3 50:50
1 TR “”mrfﬂxwmﬂ
8 -
M TS - g () s — R
MY

‘E]‘ ?i-m_r'*ﬁ — xﬂ?ﬂﬁq?

19, gfyey S (0) srdgax — T
Tﬁﬁﬁm 1 . : ol
TRl fig g7 9 Wy faEd
) Ty |
(C) Ttrm q- (B) Fryarer 4
2. o ol (D) 3R §
e AR T Y S I B [
@ Al ] THI
() Wi |
B) yard iy 148
) sy ( e N
g | g (o) frat won aa 12
2 vy
{ il
AR :?Tf:njmm . IHT frand F ©

(B) Hegeia
N D) Sy

B

w
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22. Where did Thakur Khushal Singh lead the
rebels, during the Revolt of 18577
(A) Nasirabad (B) Kota

(C) Erinpura (D) Aauwa
In the travel list of Planet D The 16 Most

Romantic Cities on Earth', which city of
Rajasthan has been included in 20227

23,

T e e e T — — i, i

3

:
B -

22. 1857 fagie 4, B1aY &I e a &4
ag faid w g fa?
(A) siirang (B) @rel
) th’}ﬂ (D) amrgar
23 wie I oA g gl g 16 W {“’Fﬂfﬁﬂ'
firdyar st a3, v @ fow w8 @
2022 ¥ witve & ar €7

(A) Jaipur (B) Jaisalmer = (A) TIY (B) TN
(C) udaipur (D) Dungarpur _% {8) Jea (D) TR
24. Who wrote the ‘Early Chauhan Dynasties’? QE. 24. aefl Wgm ErgEE @ TE@ © -
(A) G.N. Sharma (B) G.H, Ojha ? (A) il g (B) G’ﬁQ’H AN
(C) Dasharatha (D) G.A. Grierson D g
) BT,
Sharma <o JE) gIRey 7 (D) &Y. 194
3. The Clouded Leopard National Park, is situated g 25. gy teanm W var, e A = @ el
in which ufthe following state? ¥y ferg 87
(A) Tripura (8) Himachal Pradesh @ (A) BT (8) femreret et
(C) Madhya Pradesh (D) Assam (C) eawasn (D) 34
26. |n which city, DRDO launched testing 26 SlaRLan 1 wRA™ FH1 | WER WOl &
evaluation facility on Sonar System of Indian fore T e G Y TR A IS
Navy? figr?
(A) Thiruvananthapuram (B) Kochi (A) fersanaIRm (B) Hifem
(C) Port Blair (D) Vizag (C) Wi =W (D) faamm
27. |nequality of Income can be measured by - 27. Ema tﬁ'n’ IFAHIFAT ST WTOT O ol € —
(i) Lorenz Curve (i) TR™T gd
(ii) Gini Coefficient sa (i) i i@
(ili) Poverty Line [ali} l:é_iﬁ! wn
{iv) Relative Poverty (v) rger T4l
Choase the correct option - e ﬁﬁq o - .
(A} anly (i), (i) and (iv) (B) only (i) (A) @vad (i), (1) & (iv) (B) Ta& ()
- (C) et (i), (i) 3 (D) St (i), (i) 31
(C) anly (i), (iii) and (iv) (O) only (i), (i) and (iii) (iv) (i)
28. 28

The tradition of Rajasthan, in which folk drama
is perfcrn'ned by the women of the house after
the groom's procession leaves the house, Is

called -
(A) Swang (B) Rammat
(C) Tutiya (D) Khayal

29. The south-west monsoon starts .retrealing
from Punjab plains by -
(A) Mid-October

(C) Mid-September

(B8) pid-July
(D) December

- O @ T8 TN, S ToE @ 4NTT @
B W el O @ R W @) Rl g s
ey fdur WIng € e @ —

(A) g (B) Ty
&) qrem (0) wyrd

2. goma @ T g R e @Y ges s
L‘: .
£A) TS

(B) sez-pang &
(C) wen-fimraw o

(D) 13339¢ %
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30.

31.

33.

131B

—a

) i -’l ?-h- i_"-. '. L] "
5 ll’ -i' -r' ;

2 R # .
"—"""l'hl-l-—-l—-a-I-.l--.-:_._h —

o) porvamn
g

Which of the following sand dunes, develop In

the parallel direction to the prevailing wind?

(A) Parabolic (B) Barkhan

(C) Seif (D) Transverse

Which of the following taxes-fall under the
State List of Indian Constitution?

(i) Stamp Duty o
(ii) Custom Duty E:;
(i) Luxury Tax L
(iv) Entertainment Tax g
Select the answer using the code given below - ﬁ
(A) (i) and (iv) (8) (i), (i)and (i) 2
(C) (ii), (i) and (iv) (D) (iii) and (iv)

Who is the writer of ‘Futuhat-I-Alamgiri'? E

(B) Firoz Shah Tughlag E

(D) Ishwardas Nagar 3
N

(A) Dara Shikoh

(C) Aurangzeb

Rajasthan’s only terrestrial Meteorite Impact ¥ 33.

™

Crater (MIC) s located at - 4=

(A) Ramgarh, (B) Ramgarh, Alwar
Jhunjhunu )

(C) Ramgarh, Sikar  (P) Ramgarh, Baran E

Rajasthan Jan-Aadhaar Authority Act, 2020 has - 4,

o SR AR L
S swg Mwﬂ’“’””‘

AA) (i) 371 (iv)

H naCEE ARG E| W, Usfiy

. fmfarad
g T fae &+ FHRIN fawfm Bl g7
(A) IRTITeT® AB) T
“C) 70T + (D) FFFHEE 0
31, Prefefad 3§ @ @A W1 B ARAT 3
WTtTmETﬁTTﬁ&"ﬂT‘?
(i) =7 e ‘:
(ii) wees oo
(if) 7l 27
(iv) AN Cay
w R oMY e W W IR # T
g —

|B) (i), (ii) 371 (iii)

(€) (ii), (i) 3 (iv) (@) (iii) 3ITR (iv)

32 ‘pEEA-T—STEHIR & odd D e

~(A) TRI e 4B) foheIaT e e
(C) 3MeTald (D) F¥aRaT™ R

ISR &7 VTS g Jobiitg FER wet
(W) g 2 -
(A) I7TE, ST

(B)

TG, STean

(C) IrTe, Wi AD) IHTe, AW

O OF—STIR Wieaver arfafsgm, 2020

come into effect from - § uHTa B ¢ —
(A) 3 March, 2020  (B) 7" May, 2020 pos (8) 3514, 2020 91 (B) 75 2020 3
(C) 31" December, (D) 18""December,  qum ()
31 16 o 1
2020 2019 ISR, 2020 ¥ (DY 18 favma, 201
Which among the following (Crop - Producing © 35. 557 5 & w5 (TS — earess W) ©
P~ L X
State) is not correctly matched? o  Hfem s 22
- H . F
(A) Tea - Gujarat ( JIL_HE Assam E ) Y — TR (B) v — wi%
(©) Wheat-Uttar  (0) Rice- WestBengal O (©) 31 — Sirwwrn (D) arrer e
Pradesh -
i 4P ELHIG
. Which one of the following is not correctly v= 36. fmifaifary & 5 T s
3 ' HoT FEIT
matched? oy ' 3
(A) Arjun Lal Sethi— Belur Jail (A) FFATS Bl .
- ' ~ WEV Oid
(B) Jorawar Singh - Bareilly Jail B) ST ﬁtr* i A
"..‘I..
(C) Vijay Singh Pathik - Todgarh sai (©) R firg o - -
. B _ , T - IS Wl
(D) Kesar Sipgh Sarhath = Hazaribagh Jai O) w0l fig aweg _ EATan] e
Page 6 of 24 —— .
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37. As per Cen
SUS ~
Percentage o zciiﬂruindwwth districts the 37
D UI H g I"' w —2 . -
POP Ia:lf:r!; :nunﬁ least in Haja;?ﬁs In total GTT;H P IR, wowE @ (e
1 16 ® -
agaur }NEEEurandchu”E} | ﬁﬁ et # e ?ﬁ B
38. Ar Ganganagar = (C) Sawriv af il
range the following Mountai - . IR R (D) 4w 3fR R
Rajasthan in descending 0 Peaks N 38. e 9 Frfafen wda wifedl @ oard

@ HTUR ISR g o rafera HfeT -

Sa ' 5 — -
( RHEhUnathga;h llangarh ..J‘A} NI — ﬂﬂ'fﬁrl‘m' — =g - W
B) Sajjangarh - ]
= Lilagarh - B )
Jarga 8arh = Raghunathgarh - Q B) w511 — Starte — wmrpTg — v
(C) Raghunathgarh = Jarga - Lilagarh - 0 _
Sajjangarh g (C) Wrmrre — oo — g — Hou A ie
(D) Jarga - Ra .
ghunathgarh - Sajjangarh —
Lilagarh e E AP) TR — \HHRITE — WG — ofidnme
394. In i ; P . _ m = y o .
*Wh"ih year, Rajasthan’s' first Handicrae=  39. frgy A, SO @) Ugel evetieT A
Policy released? S8 9 e
(A) 2022 (B) ol
(©) 2018 = 4A) 2022 (B) 2018
= 2019 (D) 2021 -~ (€) 2019 (D) 2021
* The core concept of the Eleventh Five Year Plag 40. L;ﬂ'ﬁr-ﬁ EEELIL oo G B\ 31 i
was - off —
(A) Faster and more inclusive growth ﬁ (A) T N 31 sl faern
(B) Growth with social justice and equality ™ t8) IO IR 3N WHAT & Wy T
{C) Human well being ‘ - (C) 5rFq s1elid
(D) Human resource development (D) si1a wWanH fOors
41. Match the following and- select the cnrreE N. Fy=fafag @ Yo W qer 1 few 1o

answer from the code given below -
List—1
Industry
(1) Rajasthan State Chemical Works
(2) Hitech Glass Factory

(3) Mewar Sugar Mill
(4) J.K. Cement works

13120418

bl |
h;it

T AW A TR gy -
Al - |
FEnT
(1) VNIRRT ¥ hifwE e
(2) BrEes TEN BaTd]
(3) ATFs IR fa
4) W&, qEE g

List—1i E‘_“ I W
b | -
Place Pl - ) 0}%&“
(i) Didwana e S){\\é‘ M
(ii) Dholpur i %
‘ ) =i X -

(iv) Nimbahera
Code - |

(A) 1 - (ii), 2 - (i}, 3 - (i), & - (V)
(B) 1 - (iv), 2 - (i), 3~ {'!1. 4 - (iii)
(C) 1 - (iv), 2 - (iii), 3 -_q_.u. 4 - (i)
(D) 1 - (i), 2 - i), 3 - (iii). & - (iv)

%= -

(A) 1-(ii), 2 - (i), 3 - (i), 4 - (iv)

(B) 1-(iv), 2- (), 3 - (i), 4 = (1)

C) 1- (tv), 2 - (i), 3-(ii), 4 - {1)
IO - (i), 2 - (i), 3- (i), 4 - (i)

1mp M
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47.
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- The objective of the

Tede - @Smeeck Stucly Rejat

Union Minister Mukhtar Abbas Nagvi
Inaugurated the 5™ Global Film Tourism
Conclave (GFTC) in which city in July 20227

(A) Gujarar (B) Jaipur

(€) Mumbai (D) Bangalore

Which one of the following (Lift Canal -
Beneficiary Districts) is not matched correctly?
(A) Dr. Karni - Bikaner, Jodhpur

(B) Jai Narayan Vyas - Jaisalmer, Jodhpur

(C) Kumbharam Arya - Jaisalmer, Barmer

(D) Kunwarsen - Ganganagar, Bikaner

Rajasthan Government has increased the MLA
fund for the Financial Year 2021-22, under the
MLA Local Area Development Scheme upto -
(A) T 5 Crore (8) ¥ 10 Crore

(C) T 3 Crore (D) T 4 Crore

Which Ruler of Marwar did not accept the
suzerainty of the Mughals?

(A) Rao Amar Singh  (B) Ajeet Singh

(C) Rao Chandrasen (D) Udai Singh

Which one of the following (Wildlife Sanctuary
- District) is not correctly matched?
(A) Kesarbagh - (B) Sorsan - Baran

Udaipur
(C) van Vihar - «(D) Band Baretha -
Dholpur Bharatpur
Yellow revolution is not related to which of the
following?
(A) Mustard (B) sesame
(C) Edible oil (D) Gram

'‘Captive  Animal

Sponsorship Scheme’ is-

(A) Adoption of wildlife of biological parks to
the general public, institution etc.

(B) Adoption of the wildlife of the sanctuary to
the general public, institution etc.

(C) Adoption of the birds of birdhouse to the
generat public, institution etc.

(D) Adoption of COWS In gaushalato the general
jon etc.

m—

public, institt*

Yhan

42. F=dtg WAl mmr&‘r‘tﬂ ERE R
SErE 2022 g1 wad Ed B ey
iR (GFTC) 1 SEIT 1377

(&) T R
AC) 7wd (D) AER
13, Pyt 3 wE (fee A8 — winnfam
fordr) Wi =Tl €7 v
(A) < TR — O, TEE :

(B) i1 FRTAY] WE — SRR, ST
JE) IR A — ST, BT
(D) &ﬁ'ﬁ'ﬁ — IITR, dIETR

44. ?ﬁﬁ'-EIT'T T A fme ST AT U
5 2021-22 % for), fammas ARy wem@w w= &

ﬁ‘_‘_

{A) sa1E T (B) 10®wiE T
(C) 3RS T (D) sTTIE T
5. wware W fa WS A el @ S
wWEr A & o
(A) w17 &7 TOE (B) afoiid [¥E
YC) 1T T (D) 5z fHis
46, fy=fefam o 5 a9 w1 (G9 i spuRs -
foren) wpfer =t &7 -
JA) TR A — IRgR(B) T — dl
(C) 7 RER — ©ierR (D) w71 gl — #HTH

aT. e W W OET Wi fe weelaa e

(4
) v W o
&) T o Wy s
48. Fitey Q‘ﬁw Rt Wi @ bt
g —

~(A) Wi FaET & TEndm @ amoE, T80

anfe # g Fe

(8) il ® TR Hy s, e 30
20 B edkis

(C) oo & ufimmt @y s
:T':?T ':TE ?‘t'-?“

(D) 3O R} Ay 7y mypapeorsy, wivent 000 &l
e #9

o ey B
1Tl
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hich musical instrument is yse during the
C recital of folktale ‘Devnara

= (A) Manijira (B) Khadtal
(C) Chang (D) Jantar

* From which of the following archaeologica|

sites, the coins of the Greek ruler Menander
have been found?

(A) Balathal
(C) Ganeshwar

DG

yanji ki phad'y

¥

EEY

g

(B) Ahad e
(D) Bairath

What is the name of the picture of Lok Devyi
made by Bhils, on the wall of the house at the
time of girl's marriage?
(A) Tehnisha

(C) Mandana

51,

(B) Bharadi
(D) phad
Which one of the following state is the first

state to impose Agricultural Income Tax in
India?

(A) Bihar
(C) Maharashtra

52.

(B) Madhya Pradesh

(D) West Bengal

33. Choose the wrong pair [State Name - Number

of Members of Legislative Assembly) from the
following —

- (A) Mizeram - 40
(C) Meghalaya - 50

(B) Sikkim - 32

(D) Manipur - 60

54. At present the number of Judges in the
Rajasthan High Court s -
(A) 60 (B) 30
(C) 50 (D} 40

35. Unpion Transport  Minister  Nitin Gadkari
inaupurated and laid the foundation stone of b
national highway projects worth 119 km worth
? 2300 crore in which state?

(B) untarakhand

(D) Madhya Pradesh

(A} Aszam
(C) Rajasthan

6. \When was the Wealth Tax first introduced in

Indiars
(A) 1048 (B) 1976
(C) 1991 (D) 1957

fmw M

e Yl 24

V. eE-w Ay o o vy @ e A
W= A = g 4 g o 27
(A) 3f5itar (B) waer
(€) T AD) T

FFeaferfer # 2 v qrenfans e a1, 7
MUT WHET ) S CULUR I B

50.

(A) arciers J4B) e
(C) TToTTR “AD) iRTa

S, il g1, 92 @ fme @ wwa or 9 Aan

R TR W A w2 @ 5 @) g we
ST 27

(A) Trefrm (B} 31
(C) 3rsH1 (D)

2. fr=fatim A [ wm oW e wwa # pf
THR T T UEedl ST g7

(A) e (B) ey
(C) wemmy (D) gf¥=m 9

B fPreafafaa A owaa g (o oW oA -
eI a1 WE) F g -

(A) foamest — a0 (B) fhfFms — 32
“€) AuTEr - 50 (D) #iMgR - 60

54. Tl o LA B2 I =0 S [ AT o s M) 103013 (a1
B @ -
(A) G0 (B) 30
4€) 5p (D) ap
5. @i nfRaes T [T a2E 8 A e
T 2300 @32 T 119 fEEER 9 6 iy
et nftuirma B IgmEs SR ey
Y
(A) argm ¥B) Timvg

(C) Trareri+ (DY sl

56. et i uee) aw wuly e g O @ T
e
(A} 1948 (8) 1976
(C) 1991 (D) 1857

A —
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57-In which language was the first issue of journal
‘Ghadar’ published?
(A) urdy (B) punjabi
(C) Marathi (D) Gujarati

What was the name of the cyclonic storm that
came in Bay of Bengal, in May 2022?
(A) Asani (B) Fani

(C) Gulab (D) Tauktae

Which one of the following is not considered to
be the three phases of e-commerce?
(A) Reinvention (B) Globalization

(€) Commercialization (D) Preservation

With the efforts of which of the following, the

‘Age of Consent Bill’ (1891) was passed?

(A} Harbilas Sharda  (B) Mahadev Govind
Ranade

(D) Bal Gangadhar
Tilak

The main temple of which folk deity is situated

in Bengti village (Phalodi)?

(A) Mallinath Ji (B) Tallinath Ji

(C) Hadbu Ji (D) Pabu Ji
Which one of the following districts has

received abnormal (60% higher than normal)
rainfall, during monsoon 20217

59,

(C) B.M. Malabari

61,

B2,

(A) Banswara (B) Sikar
(C) Barmer (D) Churu

63. Balaghat, Chhindwara and Jhabua districts of
Madhya Pradesh are known for the production
of which of the following minerals?
(A) Bauxite (B) Copper
(C) Manganese (D) Mica

64.

The Kalaguman and Tikhi area is known for the
production of -

(A) Emerald (B) Garnet
(C) Calcite (D) Soapstone

65. According 0 Koppen's classification, Jalore,
Sikar, Nagaur and Jhunjhunu are included in
which of the following cimatic region?
(A) Bwkw (8) Bwhw
(C) Bshw ©) Bskw

il i 1o Ll B R e i e TTTTN T TTRPere r e

57. ey wrAel @1 UG @ [0 w3 ey

E3n v’
f-ﬁ} TG (B) tomal
(C) *RT (D) Tr@red

58. w7 20229, Nl D WE H 31 GFarh GRac
T =T @y e

J4) I (B) "RTT
(C) T[T 4D) TrEE

STFIT WATRTT B 7

(A) t;:rafra (B) -HEeflH
(C) ZaaThTY @) FRATT

60. Prfafan & W Ao 9Ot | T o
w-e fae (1891) Urivd =37
W) gxfdema Tiver (B) wEEE Midw v
(C) F1.us. ST
drdt g mrﬂﬁ'cfﬂ LR S R o
Tl‘:. ﬁﬂﬂ 1'*1
(A) TeAT T (B) Tooil+mersi
€) mya) (D) T
AR 2021 & BRE. Py 3 ) fam s 3
AT (A9 3 603 aTe)) awi 47
AR) FrTE (B) #mm

(D) GG h

(D) aTet T foes
61,

62.

(C) &T&w

83. smmmew & aTATeE, MEarer afie ETTA M EE
BiSimireng A7 s @iy i Tam o o
e 27
(A) dfFarge {B) i

HC) Fir (D) aps

E.' rhlﬁ[’['lH b 1,'11’7'1'[ E - ~gATEA
*“i Gig Rvin i A
Al Y1 i (B) 1tz -
©) B o (O) e e

63. Eﬁ'lT:[ & mTI[?I E}"ﬂ‘T‘{Tr: Fi ;,rl.;"f it
WY SR ane W, Fresiaen # 3 fiF
R R R I T e
) Buwkw (B) Bwhw

JL) Behw (D) Bekw
_-__"_‘—‘—-—._
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G%J What is the new name of “Atal Seva Kendra'?
."E# (A) Gram Suvidha (B) Rajiv Gandhj Seva
=7 Kendra Kendra

= (C) Gram Vikas Kendra (D) jan Suvidha Kendra
D

oy

Match the List-| with List-}l and select the right
choice with the help of code given below -

List-1 List1|

(a) Govind (i) Devmurti Prakaran
(b) Natha (i) Dwar Deepika

(c) Mandan (iii) Vastumanjari

(d) Kumbha (iv) Sangeetraj
Code -

(A) (a)-iv, (b)-ii, (c)-iii, (d)-i ‘
(B) (a}-if, (b)-i, (c}-iv, (d)-i X

(C) (a)-ii, (b)-ili, (c)-i, (d)-iv
(D) (a)-iii, (b)-ii, (), (d}-iv

68. Which one of the following (Irrigation Project —
District) is not correctly matched?
(A) Gudha — Bundi (B) Orai - Chittorgarh
(C) Mansi Wakal - (D) Panchna = Karauli

Dungarpur

69. The Kailash Range is part of -

(A) The Trans- (B) The Great

Himalaya Himalaya
(C) The Lesser (D) The Shivalik
Himalaya

70. The base year for the current series of National
Income Accounting -
(A) CSO has changed from 2005-06 to 2011-12

(B) CSO has changed from 2004-05 10 2011-12

(C) RBI has changed from 2004-05 to 2011-12

(D) RBI has changed from 1999-2000 to 2004-
05

. ‘pohad Yellow’ Is improved variety of which
crop?
{A) Groundnut (B) Wheat
(C) Sugarcane (D) Gram

72. National Food Security Mission (NFSM) c!n
wheat and pulses was launched in Rajasthanin

66. ‘arew dar @ @) A A €7
(A) e @ (B) o S

#

) um g @ (D) um [ &
67. -1 T - | far ofong aen A QT
Y TE T Heraar | wh e 9 -
-1 a-

(a) T j) Tawfd W |
(b 7T (i) R S ot
(c) FUE (if) AR 3}9—‘-‘
(d) Tl (iv) wFiTerreT A

4 - e
(A).(a)-iv, (b)-ii, (c)-iii, (d)- d;f 5
(B) (a)i, (b}, (c)v, (A} N
C) (a)-i, (b}, (e}, (d)iv 2
(D) (a)-ifi, (b)-ii, (c)-i, (d)-iv
68. fy=fafaa 1 FFer (Rigg aREeer -
o) ST T 27

(A) 12T — 41 (B) 3irTg — fEcitee
4C) Rl A — (D) WO — W
SR K

69. Fam MEen Wi 8 -
(A) T &1
Sl il

(B) WETY fRwreta &1
(0)_frramera @

70. 3T A ST @1 g AR 9 —
(A) I3l A 2005-06 ¥ FETHY 2011-12

& fam 2

{B) Hunal A 2004-05 ¥ 9gEHY 2011-12
we fem &

(C) aA3TE. 91 2004-05 ¥ FGTHY 2011-12
w7 5 @

(D) sz A3, 31 1999-2000 ¥ FEE@T 2004-
05 &% four @

. ‘Pgg aar 3 vEa @ g fdm
i+
(A) TE?I‘?H:“ (B) 71_%';
(C) = (0) =q

2. A vd TEET W W wie e M (e
™ETUA) TR i frw oo wRe e

(8) 2000 -10 #
(D) 2007 - 08 7

——
e E—— —

uenfy
the year - . s .
(A) 2006 -07 (B) 200910 2006 - 07
(C) 2008 -09 (D) 2007 - 08 (C) 2008-09
_|1-|E E_- - Page 11 of 24
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74,

73,

T6.

78.

79.

Which of the following countries is elected as

nen-permanent member in the UN Security

Council {UNSC), for the year 2022-237
(A) Gabon

(C) E%pfa
(29

The memorial of which of the following is built
on thediattorm built near "‘Padan pol', the first
Bate asthe Chittargarh fort?

(A) paey Sisodiya
() Jaymal Rathore

(8) India

(D) pakistan

(8) Kalla Rathore
(D) Rawat Bagh Singh

In Wit year Awadh Was annexed in British
Empigg®

A) 155 (8) 1856

(C) 143 D

Undtmle leadership of which lea ders was the
Chedassacant Movement headed?

(&) Gandhiji and Vijay Singh Pathik

(B]) G%hiji and Vallabh Bhai Patel

(C) Siam Das and Vijay Singh pathik

(D] v;b‘n Bhal Patel and Vasudey Balwant
P@ke

Whnﬁ the Chairman of %

Commitssion of Rajasthan?

(A) Dr. Jyoti Kiran

xth  Finance

(B) Manik Chang
Surana
L
(C) K Gaoyal (D) Pradhyuman Singh
o0
The pescentage share of Agriculture In Grosg

State djlue Added at constant (2011 - 1)
prlEE{‘!f Rajasthan far the year 2021 - 33

|Advapee estimates) |5 -

(A) 2814% (B) 26.34%
(C) 22.85% (D) 30.45%

For how many months ean a person remain 3

Minister in Rajasthan, withgut being a member
of the Rajasthan Legisiative Assembly?

73,

74,

15

786.

7.

7B.

79,

o 2022-23F fay, Fafafas 3 5 B 4

®1 IYF AT BT TR (e ) ;
el R & w9 4 FEitEs G T 4
(A) riif 18) SA

(C) gfefim (D) arfirzam
fofieme g & WoW BR WS gy -
) T W RE A O et s N g
2 @ SNMShnh%qum*’nun-

(A) gar Rimean B) Hoell Wiehz

(C) waHe TIETS (0) 1w @rg e

i od s o1 fafew wmen # e
317

(A) 1766 <48) 1856

(C) 1857 (0) 1899

ST T STRIER f S @ T W 2

o’
E

(A} T Ry i i

AB) T 3R T e g

(C) i’ﬂﬁTTlT?.T!T:H"?ﬁ‘i—Jmﬁrp-?ﬁcﬁ
MR R T ——
ET;TIT-‘:'::: W apim % e oo

RS =i B () v ikt

C =% i JIB) weper foiz
N R - - R i A e
(2011 - 32) et gy o 2021 - 22 & (7
AT FY Wi 5% a1
AT #)

(8) 26,145 (B) 25.34%

+C) 28.85% (D) 30.45%

R — e 3

w

T T o

& T §
e Y 29
t.ﬁ.} B I'ﬂﬂ'l'llh!l ':H.I' 3 months A v “1;1.:-1 {E] - &)
(C) 4 months ©) 12 months (C) TR =773 (D) e 721
e
e M
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80.

B87.

RIS

which one of the following rivers Is an example
af superimposed river?

(A) Banas (B) Mahi

(C) Ghaggar (D) Jakharg—
Rajasthan Mahila Parishad was%unded at
Udaipur in 1947 by - ;

(A) Shanta Trivedi ot

(B) Aruna ﬁ'

(D) Indumﬁﬁnenka
gefore becoming the Chief Justice of the

(C) Durgawati Devi

Rajasthan High Court, Justice Pankaj Mithal

was the Chief Justice of - -

{A) Gujarat High Court (B) Patna @1 Court
(D) Madra@‘lgh Court
()

N
Which one of the following disﬁ;ts, is the
largest producer of feldspar in Raj¥=Than?
(A) Rajsamand (B) Nagaur
(C) Ajmer (D) Pali
The Iron Steel Industry centre CTanted near

coalfields is - E‘.j
(A) Salem (B) Bhadrasesti

(C) Bokaro (D) Jam5h:§wur
Jaydayal Soni and Chetram are rel@Nd to-

T ..
(A) Jaipuri Khayal (B) Shekhawpti Knayal
(C) Turra Kalangi (D) Hela KiTayal

(C) Jammu and
Kashmir High Court

Khayal ,
Who was the Viceroy of India when the British
India’s capital was shifted frcméakutta to
Delhi? M~
(A) Lord Dalhousie (B) Lord Hﬁing
(C) Lord Ripon (D) Lord DEerin
menk for the

in which Act, provision was

appointment of an Indian rne.i;.,'z;r in the
Governor General's council of Indretar the first

time?

(A) Indian Council Act - 1861
(B) |ndian Council Act - 1919
(C) Indian Council Act - 1856
(D} Indian Council Act - 1909

fA0.

81.

B2.

83.

B4.

BS.

a7,

prafafan afzal # @ @0 A Eramcal
e v

(A) YT (B} Wity

(C) aTil? 4D) TN

, p - “
ot wfgar ufvee @1 e, gy
1947 4, frera g B8 417
&) T Fad

(£) Ty &4 |

e eI G i R U @

d4 uEd. afmmﬁmamﬁ?ﬁﬁm

smanie 97

(A) TTRT 9 (B) ye=T Teq FaTATEd
TR

[S) S 9 (D) wETH WA TAad

qrTed
ﬁmﬁ#ﬁmﬁixmﬁmﬁrﬂmaﬁ

MGG Teik Lk REIEED g?

(A) FToTR (B) HTFIIN

L) TR (D) wTeh

HITAT &R © o Fer e SR SUT &
&

(A) TiTH (B) wgTae!

(C) TR D) THIEUR

e T AR dawm wHet| § —

(A Tl =d 9
:m@ﬁmﬁﬁﬁmﬁlmﬁmwﬁ

@) FrEmEd TE o

fafzu ARe B AEEH B Gadar ¢ A
ereafa [ oM & WY HRY @ aEaad
HiF o417

(A) TiiE TN JB) id mfén
(C) ¢ifE fIuA (D) it 2wiea

JE @ TEAY TEE O Ul H uaE AR S
ardm dgw @ fagis @ o
yfafym # far qanr

AAY wikdr ufte sfafyam - 1861

(B) siwelly wivwg affdam - 1919

(C) vt uitmr S — 1896

wtD) iy it s = 1909

EEEEEE— ..z*-.' i
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83,

91.

92,

“ljlaas Khas’ was established by -
(A) Maharaja Ajeet  (B) Rana Bhagwant

Singh Singh
(C) Maharana Sajjan (D) Maharaja Banne
Singh Singh
RIICO has developed four Agro Food Parks
at -

(A) Ajmer, Kota, lodhpur, Jaipur

(B) Dholpur, Alwar, Barmer, Ajmer

(C) Jodhpur, Kota, Alwar, Sri Ganganagar
(D) Bikaner, Jaisalmer, Kota, Dausa

Jamnalal Bajaj was the one who set up -

(A} Marwar (B) Mewar
Prajamandal Prajamandal

(C) Sikar Prajamandal (D) Jaipur Prajamandal

Which one is not correct about the Emergency

Provisions?

(A) President rule has been imposed in
Rajasthan state 4 times.

(B) President rule can be imposed in any state
for maximum 3 years,

(C) Under Article 352, Emergency can be
anncunced only on written advice by the
Cabinet,

(D) The term ‘Armed rebellion’ was inserted
into the Constitution by the 470
Amendment.

In the Budget 2021-22 of Rajasthan, up to what

amount interest free loan was announced

88, ‘gl W 1 ET [T Ay —
(A) sErera aritd e (B) I sqrasy g
3
o woord (98 (D) MERGT 7 o
JE) #E ey 1NIE
:'1 - ——F T O i r
89. W Er‘ﬂ IV !':'I_:., !':_‘r' HEGD "“FHF" B =

=
E‘
"

- |

5
-

:A} aToTAY, @I, SR, SR ﬁ.
(B) HIcTR, A, AT m 7
(D) FrFrR, SRIEAY, @Iel, <N
90. THATATS qvTlol o RRITGAT @l 4] -
(A) RS woimise  (B) HATS Wainies

AC) ¥aw uured (D) WOV UuEs

91. TadTGE WTaRTAT @ 418 - 0 9 ot
A W R 60
(A) Il TIT= oIS RIS R 4 aw am
T |
(B) Irezufey wimeasr fansit <rom 91 sifteam 3 37
& TP Y€ Adhar 8|
(G T 352 & Td, sTuraeT Wk

F

A& | '
0T 428 WONE ERT Wit § e BT
W= ST M

2. IWREE B o 2021-22 5 e )

under Indira Gandhi Urban Credit Carg S— i T < rr’:"ﬂ : i
RhEmE? (] 2 Ehzai'i ‘ ﬂiﬂh” 'i}ﬁ g
(A)T20thousand  (B) T 70 thousand (A) 20 59 2 (B) 70 7oz 2
(C) T 11akh (D) ¥ 50 thousand (€)1 g 7 UB) 50wt 2
93. Which of the following is a most likely 93, et = N T _—s
. J e ‘Q"ﬁ‘[zf—; titic (LS AL
consequence of implementing the ‘Unified f’im{!mi) F = | it ",'1" ﬁj g
Payments Interface (UPI)'? o ?’} VOl TR @ gad
(A) Direct transfer of subsidies to poor people (A oF I
: }TT « m“ « et WE.
will become very effective. TR ,m -ET WRTE WRIT gyl s
(B) Digital currency will totally replace the ®) - t~:anl u e s
physical currency in about two decades. - ‘*ﬂf%‘ﬂ?il ST R ¥ fafsrea ey gl v
(C) FDI inflows will drastically increasep, &) H.E"T @ WITE o &l
(D) Mobile wallets will not be necessary for pe E‘F.u STE. Targ 3 WY g Enh N
Hq i.'_.r'., - - - L [
online payments. mmﬁﬁ 4ﬁ.m* @ Terq mmargs A
— ‘T FTE Bf g A
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100. Which one of th

1318 &

94. Who among the following of Rajasthan has
been honoured with the Pradhan  Mantri
Rashtriya Bal Puraskar in January, 20227

(A) Namita Singh

(C) Deepika Gupta

(B) Kiran Sharma
(D) Gauri Maheshwari

In which district of Rajasthan the famous
Gurudwara Buddha Johad is located?
(A) Kota

(C) Ajmer

(B) Sri Ganganagar
(D) Jaipur

86. Which one of the following is not matched

correctly?

(A) Mango Showers - Tamil Nadu

(B) Cherry Blossom - Karnataka vy
(C) Bardoli Chheerha - Kerala

(D) Nor'westers - West Bengal

97. The Sundari and Mangrove tree are found in -

(A) Tropical evergreen (B) Monsoon forests

forests
(C) Semi desert forests (B) Tidal forests

98. The Prime Meridian of India do not pass

through which of the following state?
(A) Tamil Nadu (B) Madhya Pradesh

(C) Chhattisgarh (D) uUttar Pradesh
89. \what is the decadal growth rate of population

in Rajasthan according to Census 2011?

(A) 32.97% (B) 28.44%

(C) 28.41% (D) 21.31%

e following (Lake = state) is not

correctly matched?
(B) pulicat - Karnataka

(A) Rhimtal -
Uttarakhand
(C) Chilka - Odisha (D) Lonar -
Maharashtra

——

04,

5.

97.

98.

100.

Pope 1507 24

qIoTeeT o) freafafee 4 @ faw orad), 2022
i gurpil e are g 1 e &1
mar &7

(A) =pfrar fe
(C) fyenT e
TEERI 47 lEs oA & faa fae
yafter 27

(B) fiyzu o1t
<B) i) mETa
p

(A) w1t gB) T TR
(C) 37Tz (D) TTAYF

rrfafas 4 @ @Fm w9 gardad C |

37

(A) F1 wmaw ~ ey

(B) %1 Wi — wTed

(€) aRETeT BTt — @Y

(D) widvei — uf¥estt 9md

(A) 9wy Ffca=ny  (B) FEREn @1 H
TEHER 1 A ,

(C) zg ywr =k (D) Wria o %

qWE T W SR Asara o 9 B

T e e 27

(A) TS (B) speamye T
STITOTAT 2011 6 SR, o= § ST

e gfi & Fm A)?

(A) 32.97% (B) 28.44%
(C) 28.41% D) 21.31%
Frfafaa 3 A @19 w (fa - o) gEfem

T 67

(A) T —
TS

(C) fiymrr — anfam

(B) fraie — wAEs

(D) FF R — AERTE




' Print quality of Printer is given in ............ and
- Printing speed is Riven in
o]  (A) Chromatic Number

------------------

(CN), Rotations Per

— Minute (RDM)
(B) Pages Per Minute (PPM), Dots Per Inch
(DPI1)
(C) Dots Per Inch (DPI), Pages Per Minute
(PPM)
(O) Dots Per Inch (DPI), Rotations Per Minute
(RPM)

102. A set of rules that govern all aspects of
information COmmunication is called -

(A) Server (B) 051 model

(D) Protocol

103. While working with MS-Word, which option ic
not available in file meny?

(A) Header & Footer (B) Save
(C) Print preview (D) save as

(C) Internet

% In computer spreadsheet, which is trye ff

current or active cell is B4 and You pressed
Enter key?

(A) You will be in the (B) You will be in the

cell B3 cell BS
(C) You will be in the (D) You will be in the
cell Bf cell Al

105. In a file system, 3(N) .cverseenne.. defines a path
from the current directory.

(A) Root directory (B) Virtual path name

(C) Relative path name (D) Absolute path
name

Which acid is present in Nettle sting?

(A) Methanoic acid ~ (B) Lactic acid

() Tartaric acid (D) Oxalic acid

197. Which of the following statement is true about
Ozone?

106.

{A) Low level oz0ne (or tropospheric ozone) is
an atmospheric pollutant.

(B) Ozone is a triatomic linear molecule,

(C) Conversion of Ozone to oxygen is an
endothermic reaction

(D) Ozone has two double bonds.

101, firew @Y fiFe VAT W

- 4
R DR E— -

|
(R) oafess i (CN). IR W% B gy

(B) afsrg uv fi=E (PPM), e g3 H {DFI]
AC) ey wX 5T (DPI), U W e (PPAy)
(D) Eiewr ¥ 51 (DPI). ¥1ETA WX firre (RPM)

102. 3y wAR @ Wl R @ g g 4
for il &1 w9 weam 8 -

(A) TR (B) osI #irza
(€) Tve “AD) HiETaia

103. TR, 7 % W W AR WA e e
BTEE Y] W TSR el 2T 27
~A) ¥R V3 mey (B) g X
(©) firz fig (D) 579 Tw
U® I0Ex WMe W, aar ) # ofr adnm
TOHET A BA R AR A vew 7z

BY

!-P‘

104,

(A) a0 %9 B3 & ot (B) aimq ¥ g5 7

(C) 377 17 86 7 By (D) amg 3 A% B

v TE e

(B) aefars gy
© Rara aor 3 4 TR Uyl

108, e =% 9 Ay gy U S £
JA) T

: AB) wifres amm
(C) TrERT apwm } (D) afrriiyas aran

107. sjroi o any & Pt 5 5 e o e

(R) ST 7 ey g (A=) (r ainradia
R AL

(B) 3 % Freonfon vl s 21 2>

1€) AT A St w1 Frater g ued

uftear &
-fujaﬁmqﬂ'a‘lfﬂtnﬁmi‘:.

= .'—-_—-__-__-_--__-—__--____
rL:_IH E]
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108. 1y the following reaction

, ldentify the salt

;FH formed -
% NH:OH (aq) + Hy50s(aq)—y ..., 2H
B (A) (NHa)3504 (8) NH:NO D=
D 3
(C) (NHz)2504 (D) (NHa),S

103. Name the only combat ready fifth-generation
fighter -

(A) Chengdu J-20

(B) Sukhoi PAK FA

(C) Lockheed Martin American F-35 Lightning Il
(D) Lockheed Martin F-22 Raptor

110. A sample of 0.1g of water at 100°C and normal
pressure (1.013 x 10° Nm'?) requires 54 cal of
heat energy to convert to steamat 100°C. If the
volume of the steam produced is 167.1 cc, the
change in internal energy of the sample is -

(A) 42.2 joule (B) 84.5 joule

(C) 104.3 joule (D) 208.7 joule
111. gthylene glycol is used -

(A) in detergent manufacturing

(B) in making punctures of tubeless tyres

(C) as antifreeze
(D) as food preservatives
112, patch List=1 with List=11an
answer using the code given—
List — | | E
(1) Natural polymers
(2) Thermosetting polymers

d select the correct

108, P ahta % @@ T awr @

qpdE &y -
ANHIQH (30) + H2508(30) = wovrwmee® 2#;0(/)
(A) {NH1)1S04 (B) NH4NOs
¥8) (NHa)2504 (D) (NHe)25
109. 777 & fog dOw et ST T C@AE ST
&

(A) 77, J-20
(8) HTTE PAKFA

Je) Fimers Afe 7T F-35 AEeT
(D) cifwdre midT F-22 V<X

110. 100°C 3" urfﬁ%a% =amd (1.013 x 10° Nm?) T

n.mvim-'ﬁeﬁﬂ#ﬁuwcmrmﬁ
ﬂrﬁmmﬁ’rﬂwmﬁmﬁﬁﬁﬁ

&) uia G?Iﬁﬂmﬂmja{mﬁﬂlzﬁ?.ltcﬁ.?ﬁ
ﬁﬁﬁﬂﬁ%mﬁaﬁﬂﬁﬁﬁf

(A) 42.2 Ve (B) 84.5 S
(C) 104.3 T (D) 208.7 5[

111.ﬁqr@zﬂarm@#armm‘mﬁﬁmmg-
(A) freore feio 4
EE}@Wmﬁﬁ?q‘mwﬁ i
(C) ufafes () @ w4 A
(D) wTer uftvsel @ 9 A

112, g — | &7 - (3] fram forg g Ry 7Y
g T HAN Gea e 9TR A @y —

i — |

(1) wipfirn FED
(2) e TETP \
__A{3) W

(4) EMEEY TEAP

(3) Protein
(4) Thermoplastic polymers < — I
List =1 (a) dBTIZS
(a) Bakelite _ L () anfiAT anel BT IEAD
(b) Polymer of amin® acids (c) AL
(c)P.V.C. (d) Trd T FYFE
(d) Starch and cellulos® e -
Code - ) 1-d 7.b, 3-3: B-C vAA) 1.d, 2-3, 3-b, 4-C (B) 1-d, 2-b, 3-2,4-C
(A) 1.d, 2-a, 3-B. A€ () 1-»::!* 2.b, 3-C. 43 (C) 1-3,2-b,3c,4d (@ 1-d, 2-b, 3-¢, 4-a
(C) 1-a, 2-b, 3-C a-d ' - — -
q__-_i__-__d________________,_..—r-'—r-""__'f'_'—_ﬂ_ Page 17 of 24
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M3, Which san s used to remove the permanent
hardness of water?

(A) caoay, (B) NaHCcOo;,
(€) Naco, . 10 H;0 (©) Cas0.. 2H:0

114 Immunosuppressante SUCH B ‘
prevent transplanted organs from being
rejected in recipients,
(A) Calcitonin (8) Thrombin
(C) Cyclosporine (D) Aspirin

3. Common bacteria used |

i5 =
(A) Rhizobium
(C) Spirillum

5 Benetic engineering

(B) E. Coli
(D) Diplococeus

+ 9N amount becomes ¥ 1120

00 in 5 years, The principal
amount is equal to -

(A) T 750 (B) T 200
(C) T asp (D) Te00

Which one of the following diagrams correctly
represents the relationship among Cricket
players, Tennis fans, Students?

(A) (@ (B) @@
(C) C@D (D) @

In a certain code language, if the word ‘GOD’ s
coded as 78 and the word ‘GREAT’ is coded as
255, then how is the word ‘GIFT’ coeded In that

116,

117,

118,

language?
(A) 212 (B) 194
(C) 168 (D) 182

119. Statement - A man must be wise 10 be 3 good

wrangler. Good wranglers are
talkative and boring.
Conclusions - . All the wise persons are boring.
Il. All the wise persons are reod
wranglers.
(A) Both | and Il follows
(B) Only conclusion | follows
(C) Only tonclusion Nl follows -
(D) Neither I nor i follow

———

M3, arft ot wend wewET W B Wy a fern frm
sau &1 9uar faar s @7

E (A) caocl; . (B NaHco;
?—: (C) NaCO;. 10 H;0 (D) Cas0s. 2H,0
gﬁd. SR ,,...._....1H.,.._._.‘H._.....L!;-"l'-ﬁ?:"lrﬁﬁ he
N w ograwEs 6 aw@gE A S g
F: i
T () e (B) wifrs
(C) wrzaarRTIfA (D) ufvaive
15. wefes SNPERT O uae 9 arer wme
i B o=
(&) g ) € Frard
(C) wzftam (D) FEwiaTmy

1E~mﬂamﬁw¢‘qmﬂﬁ’1¢3ﬁﬁ1uﬂfaﬁ?5
@ 1200 W O 2| wemm are

(A) 7502 {8 8007

(C) 50T «0) 9007

ﬁmﬁrﬁﬁﬁaﬁﬁmlﬁa%ﬁzrﬁmﬁm

el UER [ weiiia w27

ﬁl@ :HJ@)
{CJ(EE@ L% Dy

1312041870 1312041870 1332041870

15
20 n:u @
18. el TE Ao ?IﬁT\'GDD* & T T 78
@h " GREAT. = BT 255 2, A I GIFT
BT T I MM g 7A .
A0 168 (D) 183 Y2xq
"9 o — e WIS, o4 & fag o

S W I P mhRe ) s
ST o R S @ ¥
Fremd — | wf ST @il wang w0 g X
ﬂ.'g-lﬂ gijq-m QIIRT are) ST BT
AV 1SR BT sem gy o =
B) S P | arperer me @
©) wad Framd 1 arrem g g

PO} = AT 1 afiw  # gy FTERM @y

1318
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* Anita is wife of Bhavesh an
of Anita. Dinesh is father of
Ramesh is son of Dinesh,

~ related to Bhavesh?

10 (A) Brother

£ (C) Uncle

121.

\ROG LTOAI/Y

d Chanchal is sister
Chanchal, while
How is Ramesh

(B) Brother —in - law
(D) Father —in = Jaw
Choose the water image of the given figure —

1870

W

c —ha™ L

120. s, waw A ool @ gue sl @
2| e duw o R @ oafy @m [RA9
W UF BT B IR [ ag a §7

(A) 12 4B) e
() = (D) ¥R

121. fay v &= o1 o d elafEe gfhn -

122. FF-H1 TR NIHG W P & qe

_ : T
122. Which answer figure follows the questiﬁ
figure? .
(4P
0O A © &
me AIO

(n (2) (3 (4) E
(0 ]
Answer figures — v
(A) 9 (B) A g
N
A = o
© 0 10 }

pad -

123. The population of atown is 6000. If the num

of males increase by 8% and the numt:u?r
females increase by 10%, the population will

6500. Find the number of females in

Llown -
(A) 1100 (B) 1200 o
(C) 1000 (D) 1300 [~

1870

1

131204

124. Ap amount T 3550 is divided into X, Y EHE
such that three times of X's share is equal to¥

times of Y’'s share and 7 times of 2's share.
share is equal to -
(A) 1750

(C) T 750

(8) T 1050
(D) T 1250

ﬁ

7
O A el
me AC
(1) (2) (3) ()
YR MR -
?Q{M O EJF} A
A »
JE) ol @0 S22 e
! G
o= = St

123. u5 W @) SEEEn 6000 €1 WX oM @
WA W g% @ gia o ® 3R wigawd @
e 10% @) gy ER €, T ST 6500
2 ey W A AiRERl W Wan sm

@y —
(A) 1100 (B) 1200
“4C) 1000 (D) 1300

124, v qfdy 3550 T, X, Y 31N 2 ¥ 3 yan i
n T o B S 11 2 e i B4

fedl & g pn SN Z W R @ ¥

i

L §
:'.._.ﬂ' i

TvER &) X w1 fERT R € -
i 17503 (B) 1050+
(C) 750% (D) 1250 ¥

vis M

Page 19 0f 24

ul""|
|

—

3

——— T



128,

126.

127.

128.

128,

130.

b ﬁ? ":-ﬂ? -
!_IIB E %‘{} -Q'b‘ *

It ratio of area of two equilateral triangles 15

36225, then fatio of their perimeters will be -
(A) 36:25

(B) 12:5
(C) 25:16 (D) §:5
9 +7 =58 and 34 115124, then 13+ 55
equalto - @
(A) 38 (8) 31 gy
(C) &5 (D) 35

Find the missing term in the tollowing figure -
3C 2B 44

274 ? 648
SC 44 168
(A) 88 (B) 125¢C
(C) 8C (D) 1258

What will come in place of (=)7
1r "l'a 3: E; ?1 1—‘1-:- ~ -151 21
(A) 15

(C) 14

(B) 13
{B) 18
Five students A, B, C, D and E are sitting in a
row. D is on the right of £, B is on the left of
butis on the right of A. Dis on the left of C. Who
is sitting on the extreme left?

& d e
(A) A e B B

(B) C
(C} e (0) 8

There are four numbers, Average of the firsy
three numbers is 15 and average of the last
three numbers is 16. If the last number 15 19,

the first number is aqual 1o - (e

- TN 1S ¢ 3hq
W Fl TR s WA 19,

125, @y 7w (g @ SEmEl Wl Sy Gl
¢ o ge GATN BT NI T -
(A) 36:25 (B) 12:5
(C) 25:16 D) 6:5
126. 7112 g+ 7=583(¥ 3+ 112124 T 1345,
3 (s e kd ".']:'Lj-:-' 3.}.:‘_ |
JA) 38 (B) 21
(C) 65 (D) 36
127. fy= fF A W U% S S -
iIC 2B 4A
27A 7 G4B fa -
aC  4A  16B
“HA) 88 (B) 125C
(€) 8C (D) 1258
128. () & i W Ay STy

mm*'\tlﬂ E:f??mn:qﬁ B e
SR dar &0

UA) A (8) ¢

= E (D) g

130, = ' e o
TRV B 0 By ey e G

M A e o ¥

s e - _-" 4 T
ol T o

T:." —
(A) 15 (B) 14 ﬁw 16 (B)
£, (D - n, -
(C) 17 T 15\((" Q™ © 17 (D) 15
BN\ &
_—o® SRS ———

Fage M0 of 24 B
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131, arad fawe @ W difei -
(A) ag I 3R 4 )~ v e
(B) 48 @il—dR AWl & | — wieiaks fimfggor
(C) 3 W &N H 8| — WiHaras fEuiae
(0) i s &Sl @) — arEE Bhafar
132, 3§ W&l &1 Y § -

(A) iy T ARy ¥8) fiyer=T @ AT

(C) AWM T AR (D) faeer @ AT
133. gz ar@d B A DI -~

(A) AN 3T @R AT (B) 3 vared S €

D) gwﬁfa:-gﬁaml

(C) =4 WA A4 MY 40 TF €
SR Ue T gt -

134, faradT Urad SR A fdun B Sa e @ [

{A) T (8) Wi
(©) faeum (D) UxIEt %
135. ﬁmwmﬂmﬁﬂmwmﬁ?ﬂwﬂ g7 '
JA) BT (B) IpTER
(C) Wradm (0} aTEm

136. aprra fa@ed gL —
(A) § — SFEWT, . SRIE
(C) T — dicieE, ATl ur

137, i} W1 R g Hera @
(A) i<t QU |
(C) wH GaT @ W

138. fipg fawea ¥ ENCIEED

(M) # s B U S |
e a1 Wl €| D) % uE i oA Sy AR

(B) & — oy, Wige. GG
(D) 4 — &y, uiY, T
arl 8 -
' (B) = fowETg Ul

(D) Ffl—l e
e @ WA e g 87

A(B) 3Tg Tl Tl €1 dQr|

(L) FarE ST ]
139. {¥<f @ e W T e iy faa e (e @ i faar S er

4
| (A) fader 1ae ®) framiear® T8
[ .
| (C) aruay a7 E (D) yegaras 5 ¢

140. wifay fawueE ITA faEed W1 Fifn —

JA) I + U = T
] (C) afR + HTTE = HUTT (D) & + gejvr = IV

(B) g + Uldet = dyfldl

e — e — - P

e
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. wing questions -
Dh"ﬁ[ﬁun {l..l ta 1431 : Read ““! pﬂiiaﬂe tﬂ.fﬂfuu‘f ﬂnd answer lhﬂ fﬂ”ﬂ B

; alth. While health .t
There is no field of human endeavour that has been so misunderstood as e Which

b Te resenting the fa)
connotes well- being and absence of illness has a low profile, it 1s iliness rep B ire of

in, disability and death,
heaith which virtually monopolizas attention because of the fear of pain, disability

Till recently, patients had implicit faith in their physician whom they loved and respected, not ory,
for his knowledge but also in the total belief that practitioners of this noble profession, guided p,
ethics, always placed the patient’s interest above all other considerations. This rich interpersona)

relationship between the physician, patient and family has, barring a few exceptions, prevailed |

the recent past, for caring was considered as important as curing. Our indigenous system of medicine

like Ayurveda and Yoga have been more concerned with the promotion of the health of both the
body and mind and with maintaining a harmanious relationship not just with fellow-beings but with

nature itself, of which man is an integral part.

e e i

141. In India traditionally the doctors were being guided mainly by which of the following?

(A) Western concept of life ¥) Professional ethics

(C) Power over patient (D) High technology

142. Choose the word which is most nearly the same in meaning to the word ‘connotes’ used in the

passage. i

(A) unfollows (B) liberates
(C) except (D) implies
143. Choose the word which is most opposite in meaning of the word ‘concerned’ as used in the passage. ‘
(A) pertained (B) solicitous
(C) anxious (D) indifferent

184. pMatch the following -

(A) Sentences (B) Articles Y I
(i) We will go to Calcutta by .................. Rajdhanl Express. (a) a’
(i) The child was happy to see ..........c....... aeroplane. (b) no article '
(iii) He has gone for ........ccoomesssenrisonnens hOliday, (¢) an
(iV) srserisenns Milk is good for health. - (d) the \
M (i)-(d), ()-Le, (iii)-(a), (iv)-(b) (B) {1)-(d), (ii)-{a), (iii)-{b), (iv)-(c)
(€ (i)-(c), Ciik(d). Gii)-{a), (iv)-{b) ©) {i)- (b), (i), G- (), (iv). (s

__.--"‘-/—-—fj i'u!.-;' 22 ol 24 e — e
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EI__HEJ

‘EEN- S8

IE

[hundern . bE‘St E”ﬂlﬂst

es the meani '
eaning of the ldiom/Phrase “Steal scomeone’s

EE

(D) A useless attempt

146. Choos
e the cor ‘
rect English translation of the given sent
ence -

W fiar = :
e ﬂﬂfﬁmﬁﬁ%ﬁé‘{qﬁmﬂﬁl
o y father bought me a pair of shoes yesterday
My father got a pair of shoes for me
(C) My fatherb s
er brought me a pair of shoes yesterd

(D) My fath S | ki

Y er bring for me a pair of shoe yesterday .

147, - |
hoose the one which best expresses the meaning of the given word? (Effuse)

(A) Transfer (B) Emanate |
(©) Absorb ©) Avgment

148. Choose the correct answer from the given options =

Ravi said, “I will bring the book tomorrow.” (Change into Indirect Sﬁeechl

(A) Ravi ordered that he would bring the book
e book the next day.

the next day.

B) Ravi informed that he would bring th

(C) Ravi informed that he would bring the book tomorrow.

(D) Ravi informed that he will bring the hook tomorrow.

he given options =

149. Choose the correct answef from 1
? (Change the voice)

Why did they pull down the building
(A) Why had been the building pulled down?

«4B) Why was the building pulled down?

(C) Why did the building been pulled down’

(D) Why is the building been pulled down?

ute for—

130. Give one word sybstit
rvival’

needed for su

‘Bare minimum
(B) subsistence

(A) supplement
s (D) sustenance

4C) sustainable

S

e



